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Time : 3 hours
Fufl Marks ; 80
The figures in the nght-hand mamin indicate marks.

Answer frorm both the Sechions as directed.

(ORGANIC CHEMISTRY - 11}
Section - A

1. Answer any four of the following : 4x4 = 16

(@) What is EE2 reaction 7 Explain it with
suitable examples.

(b) Write the preduct of the following reaction
with mechanism :
CH, ? NO,
@E\@\ (i} {:H,ﬂ;ﬂl .
(i} HyO

OH NO,
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{c¢) How will you bring about the following | (i Write the product formed in the following
conversion in three steps 7 reaction ?

O— EDDH—?—-O—G 0 O ﬁ"ﬁh_} 2

(d) 1-bromobicyclo [2, 2, 1] heptane does not

undergo E, elimination when heated with a
base. Explain it. o __CHCOH o
P (i) CH,COOH
{e) Write the product of the following
reactions :
s _ comyicruoynaio, , o
(i) @ _ KMnO,. Co, , (i) CHyCN. CCly, H,0
dicyclohexana- 18 -crown-6. 25 C
(i) Oi m-CICHCOH |, 5
() _ LM, L s
O (CohalBH OR
(i) ) O 7 Nat 3y
2. Arswer all questions from the following .
CH 2%8 =16
3
(iv) @’DEHl Li f NFLy BROH (a) Explain Reimer-Tiemann reaction with
M40 ’

rmechanism.
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(b) Predict the product with mechanism :

CH,NMe,|

MaNH, -
Me

(c) Write the product of the following reaction :

(d) Give a mechanim of the following reaction ;

CH, H;
G_CH CH; feat™ heat

CH,

(e} Complete the sequence of the reaction :

BH =\

Yy NS
Pd(PPh,),. K:PO,

Fl=38/3 (4]} Contd.

(H Acid catalysed dehydration of neopentyl
alcohol yields 2-methyl-2-butene as the
major product. Outline a mechanism
showing all steps in its formation.

{g) Complete the following reactions :

(i) DIBAL-H _ .,
CN

H,=CH, CH,CH,OH
. ?
@[ ]—[ ]

(h) What would be the product of the following
compound in NaBH, and LIAIH(O'Bu),
reduction reaction 7

LiAIH(Ot-Bu),

Fl—38/3 (5) { Tum over )



3.

Section-B
Answer all questions :
(@) () What is Vilsmeir-Hack reaction ?
Expain it with mechanism. 8
(i) Write the difference between SE, and
SE, reactions. 4
(iiiy Write the product of the following

reactions with mechanism : 4

OH

CHyCNHCL ZnCl; | o
Hy0

HO OH

OR
(b) () Explain aiphatic electrophilic
substitution reaction in aliylic substrates.

Explain with suitable examples. 8

Fl—38/3 (6) Contd.

(i) Complete the folowing reactions and
give mechanisms 7 A+4 = B

5H3 0 ﬂ-HE—I\O . POCI,

OH
@ (i) CCly, alc. KOH, heat , -
() HyO™

4. ({(a) (i) Describe Smiles rearrangement with
suitable example. 8

(i) Complete the following reaction and
outline its mechanism. 4

OMe
i ~F __Pnli .
H;0

(i} "In the following reaction, a mixdure of cis
and trans-1-bromopropene is formed
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but 2-bromopropene is not formed.

Explain. 4
Me—C=C—H — ™ , 7
-T0%C
OR

(b} Write notes on the following :  5+5+6 =16
(i) Hunsdiecker Reaction
{ii} Gomberg-Bachrnann Reaction
(iii) VWohl-Ziegler Reaction
5. (a) (i) BExplain Peterson elimination reaction in
the presence of acid and base. B

(i) Explain Chugaev reaction with

examples. 5
{iii) Write the product with mechanism : 3

O
A Heal , 7

HsC CH,

OR

Fl-238/3 (B) Contd.

&) (i)

(i)

Fl—38/3

Menthyl chloride reacts with sodium
methoxide in ethanc! gives a single
product while in contrast, neomenthyl
chionde treated with same fashion gives
additional product which is the major
product. Explain these observations
mechanistically. 8
Complete the following reactions.

Write the mechanism of the first

reachon : G+2 =8
CH,
CO0CH, COOEt
H.,C
(a) ": ] T _<‘C'DGIE1
__!';lal:lﬂiu o
C M OH
T"[D_."l‘ .
{b} /)\./E'H [~ IBPT CHyCL. -20°C )
(8 { Tum over )



5.

Fl—38/3 (10) Contd,

(@) (i) Write down the reagent for the following

conversations 4
OMe
———
—_
O

(i) Complete the following reactions :

A+44242 =12
CO0H
/@\ (i) NarNH, (1 eguivalent) » A
Hae cuy (i) CHy - (CHyly - CHy —Br
PhOAz], B
o
m-CFEA, THCH y 7 LiAlH;, Ether ?
MeQ OMe
C,H,00C COOC,H;
DIBAL-H 1 E_l-l:lui'.'algn_l]_}

CH,CL, -78°C

Mally, KD,
| CHO HL3, tBuH 27

OR

(b} {i) Complete the following reaction
sequences . 4+4 = B

HC{’-_\C]H‘? 1H, Pd v o
' T 2HHe
o
@ b C? __ Na, LiquidNH, 2
OH Me

H MaBHg

HED [ E 4
(i) Explain Swern Oxidation Wlth
mechanism. 4

(iii} Write the product of the following
reaction with mechanism. 4

MMHToS
MaBH, M, DMF -
HOIL 100 e

-
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